Tower(a) 01TA1l, inclusive ADC a01TA1l
— Entries 504000
10° Mean -0.6324
= RMS 1.885
— Integral 5.04e+05
100 - X2 / ndf 2071/8
- Constant 2.128e+05 + 387
10° & Mean -0.7635 + 0.0014
= Sigma 0.9334 + 0.0011
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Tower(d) 01TAL1, ADC, tag: UxV 2*thr dO1TA11
: : — Entries 68
e I A A A T Mean 19.27
- RMS 7.053
B Integral 65
x2 | ndf 8.394 /11
X0 18.42 + 0.63
aL 6.764 + 1.175
sigL 2.573e+04 + 27995
sigG 3.187 + 0.522
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Tower(a) 01TB11, inclusive ADC
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a01TB11
Entries 504000
Mean -0.003946
RMS 2.014
Integral 5.04e+05
X2 / ndf 1376 /8
Constant 1.918e+05 + 346
Mean -0.1423 + 0.0015
Sigma 1.036 + 0.001

Tower(d) 01TB11, ADC, tag: UxV 2*thr do1TB11

- : : Entries 66
- Mean 17.61
12 RMS 3.37
— Integral 65
e X2 / ndf 12.55/ 11
.F X0 16.16 + 0.28
- aL 11.38+ 1.83
Nl sigL 3.236e+04 + 24949
- sigé ~1.303+0.213
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Tower(a) 01TC11 , inclusive ADC a0l1TC11
— : : : Entries 504000
108 T SN SO Mean -0.8093
= : 5 5 5 RMS 2.025
F Integral 5.04e+05
o ET X2 / ndf 1982 /8
i : : : Constant 1.957e+05 + 353
10° e IR SRR U Mean -0.9521+ 0.0015
= : : : Sigma 1.015 + 0.001
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d01TC11

Entries 69
Mean 16.28
RMS 4.123
Integral 68
X2 / ndf 6.591/10
x0 15.82+ 0.34
aL 10.87 + 1.99
sigL 3625 + 15423.3
sigG 1.69+ 0.33
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Tower(a) 01TD11, inclusive ADC
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a01TD11
Entries 504000
Mean -0.03144
RMS 2.103
Integral 5.04e+05
X2 / ndf 932 /8

1.646e+05 + 295
-0.1685 + 0.0018

Constant
Mean

Sigma 1.208 + 0.001
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d01TD11
Entries 56
Mean 18.95
RMS 7.312
Integral 56
X2 / ndf 4.65/11
x0 16.61+ 0.36
aL 8.933 + 1.628
sigL 2.779e+04 + 23873
sigG 1.628 + 0.314
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Tower(a) 01TE11 , inclusive ADC a01TE11
= Entries 504000
P I S OO S S Mean -0.3961
= RMS 1.833
~ Integral 5.04e+05
10" [ X2/ ndf 2246/ 7
— Constant 2.302e+05 + 420
10° el i b e Mean -0.5274 + 0.0013
= Sigma 0.8625 + 0.0010
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10 et L s R R IS
e R . |
60 80 100 120
ADC-ped
Tower(d) 01TE11, ADC, tag: UxV 2%thr | dO1TE11l
= : — Entries 46
T I 4 W R Mean 17.91
- : RMS 5.878
= L D | Integral 46
Y SERSRSRRRUUUUR SOOSOOPORSSRRRN A0 SO S W SRR SO X2/ ndf 411717
: = x0 15.79+ 0.41
= aL 7.705+ 1.671
g e sigL 1.759e+04 + 14206
JE sigG 1.618 + 0.345
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Tower(a) 02TA1l, inclusive ADC
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a02TA11

Entries

— I}

Mean
RMS
Integral
X2 / ndf
Constant
Mean

504000
-0.5914
1.844
5.04e+05
2633 /7

2.475e+05 + 455
-0.727 + 0.001
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o

N
o
i
o
(o2}
o
[0}
o

Tower(d) 02TA11, ADC, tag: UxV 2%thr |

12

10

d02TAl1l

Entries
Mean
RMS
Integral
X2 / ndf
x0

aL
sigL

49

21.96
10.83

48
5.096/9

16.15+ 0.38
10.54 + 2.81
1.539e+04 + 18877

sigG

0.8954 + 0.3160

ADC-ped




Tower(a) 02TB11, inclusive ADC a02TB11
= Entries 504000
10° Mean -0.4433
= RMS 1.942
— Integral 5.04e+05
10° = X2/ ndf 2138/7
— Constant 2.276e+05 + 416
10° = Mean -0.5859 + 0.0013
= Sigma 0.8721+ 0.0010
e ) R S A—
B S —
£ (8 S S
80 100 120
ADC-ped
Tower(d) 02TB11 , ADC, tag: UxV 2*thr dO2TB11
: : Entries 44
e I Mean 18.84
— RMS 8.227
8 e BN 1 U SO OO Integral 44
B X2 / ndf 7.401/8
- x0 16.6+ 0.6
aL 5.342 £ 0.757
sigL 1.72e+04 + 11332

SigG. 2.24+ 0.53
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Tower(a) 02TC11 , inclusive ADC a02TC11

: : : : Entries 504000
______ b MEAN 0.09158

: : : : RMS 2.037
Integral 5.04e+05
X2 / ndf 1461 /7
Constant 1.961e+05 + 354
Mean -0.05249 + 0.00150

...................................................................................

Sigma 1.013 + 0.001
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d02TC11

= : : : : Entries 49
JE . - i .|| Mean 18.87

N | RMS 7.267
Y S - L SO ..../| Integral 49
= L .| x?/ndf 2.253/6
S o . /Z S| E R 11 %0 16.11+ 0.59

al 6.959 + 1.407
sigL 3.706e+04 + 18239

SigG. 2.35+ 0.66




Tower(a) 02TD11, inclusive ADC a02TD11
— Entries 504000
I 1 N SO S A Mean -0.05768
RMS 2.03
: : : : Integral 5.04e+05
""" X2 / ndf 1463 /7
: : : : Constant 1.94e+05 + 351
Mean -0.2028 + 0.0015
Sigma 1.024 + 0.001
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d02TD11
Entries 61
Mean 18.25
RMS 4,721
Integral 61
X2 / ndf 2.715/ 10
x0 16.71+ 0.27
aL 11.94 + 0.26
sigL 1.29e+04 + 17225
sigG 1.419+ 0.192
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Tower(a) 02TE11 , inclusive ADC
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a02TE11
Entries 504000
Mean -0.4039
RMS 1.98
Integral 5.04e+05
X2 / ndf 1276/ 8
Constant 1.746e+05 = 313
Mean -0.5304 + 0.0017
Sigma 1.139+ 0.001
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d02TE11
Entries 41
Mean 19.48
RMS 9.519
Integral 41
X2 / ndf 3.948/6
x0 17.06 + 0.36
alL 7.327 + 1.921
sigL 6720 = 66091.5
sigG 1.628 + 0.392
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Tower(a) 03TA1l, inclusive ADC a03TA1ll

— Entries 504000

10° Mean 0.08041

RMS 1.827

Integral 5.04e+05

10 X2 / ndf 2127 /6

Constant 2.539e+05 + 469

10° Mean -0.05816 £ 0.00118

0.7813 % 0.0009
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Tower(d) 03TALL , ADC, tag: UxV 2*thr dO3TA1L
: : Entries 69
Mean 18.41
RMS 6.609
Integral 69
x2 / ndf 1.452 /7
x0 16.8+ 0.3
aL 12.59 + 2.07
sigL 2.954e+04 + 6424
sigG 1.706 £ 0.257
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Tower(a) 03TB11, inclusive ADC

a03TB11

Entries
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RMS
Integral
X2 / ndf
Constant
Mean

504000
0.08806
2.292
5.04e+05
264.4 /8

1.338e+05 + 238
-0.04755+ 0.00215

Sigma
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1.487 + 0.002
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d03TB11

Entries

10

1 E— | RMS

Mean

Integral

11— | X2/ ndf

x0
aL
sigL
sigG

63

19.61

6.631

62

8.711/9

17.2+0.3

10.37 + 1.96
1.778e+04 £ 17329

1.395 £ 0.287




Tower(a) 03TC11, inclusive ADC
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a03TC11
Entries 504000
Mean -0.5535
RMS 2.146
Integral 5.04e+05
X2 / ndf 1264 /8
Constant 1.662e+05 + 298
Mean -0.6974 + 0.0017
Sigma 1.196 + 0.001

Tower(d) 03TC11, ADC, tag: UxV 2*thr | d03TC11
— : : Entries 65
e Mean 18.98
8- RMS 7.872
, =5 Integral 65
= X2 / ndf 6.299/7
6 X0 15.72 + 0.55
= aL 7.32+ 1.30
= sigL 2.668e+04 + 47668
4E sigG 2.498 + 0.445
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Tower(a) 03TD11, inclusive ADC

a03TD11
Entries 504000
Mean -0.2695
RMS 1.996
Integral 5.04e+05
X2 / ndf 2075/ 7
Constant 2.173e+05 + 396
Mean -0.4156 + 0.0014
Sigma 0.9132+ 0.0010

d03TD11
Entries 61
Mean 19.5
RMS 9.557
Integral 60
X2 / ndf 7.166/9
x0 15.71+ 0.28
aL 10.55+ 1.88
sigL 2.449e+04 + 15738
sigG 1.348 + 0.243
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Tower(a) 03TE11 , inclusive ADC a03TE11
— Entries 504000
10° e e Mean -0.7321
= RMS 1.956
N Integral 5.04e+05
I X2/ ndf 1636/ 8
— Constant 1.802e+05 + 324
107 by s Mean -0.8603 = 0.0016
E Sigma 1.103 + 0.001
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Tower(d) 03TE11, ADC, tag: UxV 2*thr | dO3TE11
. : : : Entries 46
B A T J A Mean 18.06
o =R S - OO A | RMS 6.537
= | Integral 45
] S S I i X2 / ndf 12.68/9
: ' x0 16.51+ 1381536.62
aL 3.651+ 1649261.000
sigL 1.78e+04 + 1
sigG 3.132 + 1190521.000




